2006

ERROR

%01
>12*(4+51)
660

>4*5.5
22.0
>45720
ERROR

>

-

%02
>100-10
10
>10+110
1000
>10710
ERROR
>10*(110-10)
1000

>,

e

3 log, sin, cos

log10, log, sin, cos, sqrt, pow

ERROR

ERROR



%o3

>10g10(100)*sin(pi/3)

1.73

>sqrt(4)*pow(2,3)

16
>cos(pi/4)*(sqrt(16)*pow(3,3))
76.37

>,

-

log, sin, cos, sqrt, pow

%o4

>a = 1ogl0(100)*sin(pi/3)
>a

1.73

>bb = cos(pi/Z4)*(sgrt(16)+ a)
>bb

4.05

>a * bb

7.01

>,

%

log, sin, cos, sqrt, pow
ERROR

%05

>a = 1ogl0(100)*sin(pi/3)+2.5

>a

4.23

>pbb = a + cos(pi/4)*(at+sqrt(16)*pow(3,3))

>bb

ERROR

bb



83.59
>a * bb
353.59

=



